R U H s RUHS Entrance Examination 2019

Question Paper

BSc Nursing

Q. NO. 1 [===mmmcccea—— cells of the stomach's gastric pits secrete Hydrochloric acid and intrinsic factor

0012008 | e T2 3 e TSel o ST EEe i Gae ST I e ol 919 Hidi g
. Peptic cells

Option A | =

Parietal cells
Option B | qrfip ifyreRmd

Chief cells

Option C = m

wa

Goblet cells
Option D rifsci hifyThTd,

Correct
Option

Q. No. 2 During Chloric!e shift the electrical neutrality of RBC is maintained by
0011002 FaEs firte % e RBC =1 e aecem &l % s T@a @

Diffusion of CI” from plasma to erythrocyte

option A e Y TR O % T

Active transport of k* from erythrocyte

Option B ﬁﬂ - iilk+ mumqﬂag:r

Diffusion of H* ion from plasma to erythrocyte

Option C - - -
pron H* e formrer werrsan ufigiianse & o
none
Option D ﬁ's??lﬁ

Correct Option |A

Q. No. 3 Eosinophils
0011003 ;"ﬁ \F:
Option A has 2-7 lobed
ion - L Eo
P % 2-7 w3t ¥

Are responsible for protection against infection
Option & o 2 fles gea < fore e d
Are significant in allergic reaction

Option € TSt o6 wfefn ¥ ey ¥

Play important role in detoxification

Opton | fory gy g e AT &

Correct Option |C

Q. No. 4 Henle's loop is meant for absorption of
0011004 &t o o 25 et % forg 2 &
Potassium
Option A qrefiem
. Glucose
Option B W
Urea
Option C
. Na*
Option D
P Na*

Correct Option |[D

Q. No. 5 The ciliated columnar epithelial cells in humans are known to occur in

0011005 T} 5 e e SUhEAT BRI a1 2 2 ot ST SITe

Bronchioles and Fallopian tubes

Option A Ape iy o~
P Sf-ehaTTe ST et i st
Eustachian tube and stomach lining
Option B

Eustachian za 3t 1z s1wax
. Fallopian tubes and urethra

Option C i g ST

Bile duct and oesophagus

Option D f'fﬁ[?ﬁ-ﬁ aﬁt‘a'ﬂ'l
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| Correct Option | A

Q. No. 6 The permeability of the plasma membrane in a resting neuron and muscle fibre is
0011006 T ST Tt AT =0 ST TGS wIger 5 e e i e §
Greater for Na* than K*
i + _ny - + o £
Option A K" #rgemns Na* %o sifers
Greater for K* than Na*
Option B + el o .
Na" Sfigan i K" % foe sttt
Impermeable to K*
Option C K+ #Wm
Impermeable to both the ion
Option D ST AT o fefw sTver
Correct Option B

Q. No. 7 Which of the following is false.
0011007 Frferiaa 5 @ % a1 e 2
The endoderm, mesoderm, ectoderm are germ layers.
Option A teied, aed, wered o a Fi
The trophoblast is a germ layer
Option B Doy ~
P ST eeTTe ek LY 92 &
The inner cell mass is a source of embryonic stem cells
Option C H - % 5 o s
P AT THTTeRT ZHT 0T T2H FHINTERI! 61 6id 2
The blastula is often a hollow ball of cells
Option D

Correct Option

Q. No. 8 What is the correct sequence of sperm formation.
0011008 £ o
TIEHTOT T+ TOT 1 1 36 1 8
Spermatid, spermatocyte, spermatogonia, spermatozoa
Option A o o T T
Spermatogonia, spermatocyte, spermatozoa, Spermatid
Option 8 TR, SIS, JEHISE, THeS
3 4% Tl atibe Sl Lhl LF S
Spermatogonia, spermatozoa, spermatocyte, spermatid
O tion C [ ~ o
P TR, ARSI, THEEES, Tl
Spermatogonia, spermatocyte, spermatid, spermatozoa
Option D

Correct Option

D

Q. No. 9 Menstrual flow occur due to
0011009 ~ : 2 2
AT € 51 VaTS {ohweh SHOT Bl &
. Progesterone
Option A S ey
. FSH
Option B TRIETE
Oxytocin
Option C = A
Vasopressin
Option D .

Correct Option

A

Q. No. 10 Which one oj Ehe following is not the function of placenta. It

0011010 H B T ST T e |
Facilitates supply of oxygen and nutrients to embryo

Option A O ST B =

P U 1 SR ST T efcall o1 AT ol et

Secretes estrogen

Option B TS o |1ia el

_ Facil[tates removal of carborl dioxide and waste maEeriaI from embryo

Option C 0T e SEHATHAITS T SRS Tard 1 5 i giae
Secretes oxytocin during parturition

Option D >

ferem= = S STt T EE BT e

Correct Option

D

Page 2 of 20



Q. No. 11

The movement pf gene from one linkage group to another is called:

0011011 O fetest T B gL S 51 T 61 e ST &
X Inversion
Option A G?IE:CFH
Duplication
Option B P
Translocation
Option C AR
J
Crossing over
Option D EEFI—E'TET{
Correct Option |[D
Q. No. 12 Allels are :
0011012 QF\‘IFG =
Different phenotype
Option A fafi= et
Option B True breeding homozygous
P T WA S
Different molecular form of gene
Option C S & fafi st =9
Heterozygotes
OptionD | Sl
Correct Option |[D

Q. No. 13 HIV that cause AIDS, first starts destroying:
1101 co = r = - : .
0011013 CERHATEE S| U2 1 HR0T ST 2, W Tee T2 Tl ¢
B-lymphocytes
Option A B s
Leucocytes
Option B ~
[ EAERS)
Helper T-Lymphocytes
Option C oW A-femprased
e L T
Thrombocytes
Option b AesraEed
Correct Option |A
Q. No. 14 There are twelve pair of ribs out of which ========cuua- are directly attached to sternum
0011014 " ) . e - . o
ERGEIE R SR I AT EEE: S e SRy & 21 3t @
First 11 pair
option A | gt 11 <
2
i First 9 pair
optonB | g 9 Wi
Rl
First 5 pair
Option C tlgé‘ 5 —Jﬁ—_,:[
=
First 7 pair
Option® | gt 7 iy
Correct Option |[D

Q. No. 15 According to the amount and distribution of yolk in an egg, the eggs of amphibians
0011015 are
e e S - S e
e 12 H ST b AT ST faeon o STui SHa=Ri % SIS 2 §
alecithal and centrolecithal
Option A > em‘ m" 3 M)
o microlecithal and telolecithal
tion B ENEN SURNIENE
P TSIl aUe S Se e v
mesolecithal and telolecithal
Option C o S e
mesolecithal and isolecithal
Option D Haifafbeet 3 ssaae
Correct Option |C

Q. No. 16 Sense organ concgrned witlh equilibrium are
0011016 e U Hafad gagsh AT E
Option A
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Eyes

EaNec
Medulla oblongata
Option B :q—_,a-l' ST
3
Option C Internal ear
ion -
P Eniedeac
X Nasal chamber
Option D T e
Correct Option |C

Q. No. 17 Rapid decline in population due to high mortality rate
0011017 3o . o . o
T eg 2% Teqy S | oSl ¥ e
_ Population density
Option A T e
population Crash
Option B .
ption TEET
population explosion
Option C ST 2
All of the above
Option D - =
SRR HHT
Correct Option |B

Q. No. 18 Among honey bees workers are
0011018 HepaEE o o SfE E

. Male
Option A Ery

. Female
Option B el

i Both male and female
Option C TS AT AT

Hermaphrodite

Option D =

Correct Option

A

Q. No. 19 Plasmid DNA are
0011019 WDNA 3-\]%%
. Extranuclear gene of bacterial cells

Option A SR HEe & g e stH
Best vector DNA for R DNA technology

Option B R DNA T = fe gaas 99t DNA
Working as endosymbiont in bacterial cell

Option ¢ Fifere Tt B Ui % e H w5
All of above

Option D _ﬂfl\—"ﬁmﬁ

Correct Option |[D

Q. No. 20 Which of the following is/are used as green manures
0011020 S g S 3 I :
frferfiaa 5 @ =60 1 50 @1 % 9 4 ST 6 s e
Option A Crotolariajuncea
ion oy T
p mm »
. Melilolusparviflora
Option B Heretiord TR
Trifolium
Option C -
All of the above
Option D ERLERE
Correct Option |[D

Q. No. 21 Natural insecticide obtained from plants

11021 g
00110 et & ST ST e B

) Azardiracta
Option A atanfddac
Ratenone

Option B

P SRS
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Option C

Pyrethrum and cinerin

> AR
Option D All of the above
on 2 .1
P Btk ki)
Correct Option |[D

Q. No. 22 Plants which accumulate hydrocarbons of high molecular weight are known as

0011022 " " W TR O e— 3
F=d S5k T 3 BI5aehiei ohi G=d 3L aTel Tiic 361 ohal STl ©
Biogas plant

Option A ElpiueEeel
Petro plant

Option B ﬁaw
Biofertilizer plant

Option C I i
ECECICRE]

Option D None ot_tt]e above

P S § ¥ IS AL
Correct Option |B

Q. No. 23 In which climate shifting cultivation takes place
0011023 I U STeTaTg H AT Tiad 51 Eell 2l §
. Tundra
Option A 3191
Equatorial
Option B e
Cool temperature
Option C ST AT
Tropical climate
Option b SR STy
Correct Option B

Q. No. 24 Which one of the following is/are medicinal plants commonly found in Rajasthan
0011024 - oG e R S 2 S
Forferfiga = @ =i ar U | S o S el it aie d
. Capparisdecidera
Option A F3
T Rl
. Prosopiscinearia
Option B o Sy
Tecomella undulate
Option C 2 e 2
TR ST
All of the above
Option D >, o
P ST T
Correct Option |[D

Q. No. 25 Nucellus polyembryony if found in
0011025 IS gy i1 98 S 2
Orange
Option A Fﬂ:[ﬁ
Lemon
Option B F— 75
Bic
Mango
Option C m-};‘
. All of the above
Option D EE Ty e i
Correct Option |[D

Q. No. 26 Who discovered the apomixis in th plant
0011026 Torm Aantores S et  orgm= (apomixis) i@ o |
Obtion A Oswald Tippo
p fon 3i Eialq\jﬁql
Winkler
Option B +
Option C Schwann
ion
P aH
Robert Hook
Option D ﬁa‘éaa:
Correct Option B
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Q. No. 27

How many types of soil water are found

0011027 HaT STl foha YT T BidT &
. one
Option A e
Option B tvx\/o
ol
Option C TDree
GG
Four
Option D £ty
Correct Option |[D

Q. No. 28 Maximum water absorption occur through which process
0011028 N = S 3
Osmotic absorption
Option A o ~
TITHIIT S
Active absorption
Option B T ST
Through Suction
Option C s
Passive absorption
Option D ot s
Correct Option |[D

Q. No. 29 What happens to the water absorption if the concentration of oxygen is increased in
0011029 the roots
afe ST # STafi=r o1 Oz =gt 1 < o STet ST STasiyor
Opti It stops
ption A T ST
Obtion B Increased
P =g S
X Decreased
Option C _GF‘TE?TW
Have no effect
Option D e i B
Correct Option |B

Q. No. 30 The process of water absorption follows the following pathway
0011030 et ST Tfer (s 3 STet 1 W6t <e A7 &
Root hairs, cortex, endodermis, xylem
Option A TERM, Fege, SEEET, e
Root hairs, endodermis, cortex, xylem
Option B T, ST, A, SEem
Root hairs, cortex, endodermis, phloem
Option C o & 2
T, SeFe, Sfeaal, T
Root hairs, cortex, phloem, xylem
Option D

qeH, Sede, TlluH, SEad

Correct Option

A

Q. No. 31 The growth of the pollen tube occur in its
0011031 o =
e (pollen tube) #iafz Sdis
Middle part
Option A - -
P TwE T
Apical part
Option 8 S S fag
Option C Posterior part
ption SO TR
All of the above
Option D oy oo
prion SHARAHH
Correct Option |B

Q. NO.32 | ierresrenrnanennnns is formed by the f\usiop of male gamete and secondary nucleus
0011032 mwm%ﬁmmimﬁm%
Option A
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Zygote
=

2

Endosperm nucleus

Option B Tfﬁ'q’?ﬁaﬁ
Embryosac nucleus
Option C qﬁf?ﬁﬁrm
Antipodal cells
Option D ﬁﬁ'ﬂ@ CAREIL DN
Correct Option |B

Q. No. 33 Optimum temperature required for maximun water absorption
0011033 o, - - -
T STer ST 3 ot S a e E
Otion A between 30 °C to 45 °C
ption 30C ¥ 45C Fuea
Ontion B below 10 °C
prion 10C a%n
Option C between 20 °C to 35 °C
ption YR ey
20C ¥ 35C waem
_ between 10 °C to 20 °C
Option D = o

10C @ 20C F7=a

Correct Option

[o

Q. No. 34 Which one does not occur during Cyclic photophosphorylation
0011034 =5t wehre wesifefeRer (Cyclic photophosphorylation) & =@ 3 |
production of oxygen
option A TSR 73
Synthesis of NADP.H>
Option B T
P NADP.H, =T HI[eT97]
Option C use of H20
pron STt ST ST
All of the Above
Option D LR
Correct Option |C

Q. No. 35 The mass of a unit cell of CsCl Corresponds to
0021001 CsCl & = =il 3999 99 % |
' 1Cs*and1cCr
Opti A
ption 1Cstand 1Cr
' 1Cs*and 6 CI
Option B
P 1Cs* and 6 CF
) 4 Cs*and 4 CI
Option C
P 4 Cs*and 4 ClI’
) 8Cstand 1 CI
Option D
P 8Cs*and1Cl
Correct Option |A

Q. No. 36 What fraction of the volume of the unit cell is occupied by copper when it crystallises
0021002 as FCC?
U HITEhT ST FoRTT STST B B § e SaeR gug FCC g g |
. 100 %
Option A 100 %
. 74 %
Option B 74 %
. 68 %
Option C 68 %
. 52.4 %
Option D 52.4 %
Correct Option B

Q. No. 37 Whicl]_of the following changes in thermodynamjc qui:ntities represent ideal solution?
0021003 ot T T SR T i ey Ferd % s Sy 3
AV=0, AH=0, AS = +ve, AG=-ve

Option A

P AV=0, AH=0, AS = +ve, AG=-ve
ootion B AV=+ve, AH= -ve, AS = -ve, AG=+ve

on

P AV=tve, AH= -ve, AS = -ve, AG=+ve

Option C
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AV=0, AH=-ve_, AS = +ve, AG=
AV=0, AH=-ve, AS = +ve, AG=

0
0
AV=0, AH= -ve, AS = +ve, AG=0
0

Option D
AV=0, AH= -ve, AS = +ve, AG=
Correct Option |A
Q. No. | The boiling point of CéHs, CH30H, C¢HsNH2 and CeHsNO; are 80 °C, 65 °C, 184 °C and 212 °C respectively, which will show highest
38 vapour pressure at room temperature:
0021004 i B 3 + : (1] [¢] (1] = (1] O S o
CsHs, CH30H, CsHsNH2 afit CsHsNO? =1 #=9dis ®q91; 80 "C, 65 “C, 184 “C w212 °C % | =91 U frush ar9
T L 3 A 9 g St g |
. CeHe
Option A CeHe
. CH30H
Option B CHSOH
. CeHsNH2
Option C | coHoNH,
. CeHsNO2
Option D CeHsNO»
Corl_'ect B
Option
Q. No. Exactly 1.00 gram of urea dissolved in 75.0 gram of water gives a solution that boils at 100.114 °C. The molecular
39 weight of urea is 60.1. What is K, for water?
0021005 = e E s !
s 1.00 7 gfear %1 75.0 1/ st # =en st g @ frered @ w@es 100.1140C g 8 g7 s S 9
60.1 s 2| et =1 Ky, Far sm?
. 0.114
Option A 0.114
. 100
Option B 100
. 0.513
Option C 0.513
. 0.222
Option D 0.222
Correct
Option c
Q. No. 40 For the reaction,
0021006 CaHsl + OH — CHsOH +T
K=5.03x102sec! at 298 °K and K = 6.71 sec! at 333 °K
What is the activation energy of the reaction?
CHsl + OH — CHs0H +T
K=503%x102sec! at 208 °K and K = 6.71 sec! at 333 °K
. 2.12 kcal
Option A 2.12 keal
. 212 kcal
Option B 212 keal
. 21.2 kcal
Option C 21.2 keal
. 21200 kcal
Option D 21200 keal
Correct Option |C
Q. No. 41 Which of the following statement is correct?
0021007 FadfsRmaaaE s ?
. The order of a reaction is equal to the sum of the stoichiometric coefficient of the reactant.
Option A 1 1 I STV & T T % S % aue 2 8 |
Option B Order of a reaction can be determined both theoretically and experimentally
ption =1 i YgIlas AT wEeE Sl fafee @ fraifa s o 2 |
Option C The order of the reaction is sum of the exponents of reactants in rate law equation.
ption siffsrn =1 S =t fem wfie % i % uiiues 5 i
. Molecularity of a reaction could be both fractional and whole number.
Option D A 1 Tt st SR ot ST 8 T 3
Correct Option |C
Q. No. The volume of a colloidal particle V., volume of a solute particle in a true solution V;, the volume of suspension particle Vs
42 can be arranged
0021008 piwrzger 0T 1 @0 VC, f&wm %o 1 21maa aratas fems 7 Vi, an foes o %1 s Vs, s d gag 37
. Ve =Vt = Vs
Option A Vo= Vi = Ve
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Option B | Vs < V¢ < V¢
Vs < Ve < Vit
- Vs > Ve > V¢
Option C Ve > Ve > Ve
- Ve > Vs > Wt
Option D Vo> Ve > Ve
Correct
Option
Q. No. 43 Tyndal effect would be observed in a
0021009 feea o o 5 Tt e 22
X True Solution
Option A -
Pure Solvent
Option B = =
Precipitate
Option C 33IEI—€;3I
X Colloidal solution
Option D Fiemsea f
g =]
Correct Option |[D
Q. No. 44 The ability of an ion to bring about goagulation of a given cqlloid depends upon
0021010 Fortli o1 1w Fiessw e & foe Whed aan e 3 g wfnf s 3 2
Option A The size only
ion 2
P AT AT
Option B The sign of charge alone
ption AT ST % Uohd TX
Option C The magnitude of the charge alone
ion 2 i
P AT TGS 5 T T
Obtion D Botb mggnitude and‘sign“of the charge
P ST =5 T ST "eha SHi 1T
Correct Option |[D
Q. No. 45 Voltage of a galvanic cell depends on
0021011 et a9 # Al e W it w2
. Concentration
Option A U@Tﬂ
Option B Temperature
. Number of electron transferred
Option € T Selee M o TR T
Obtion D All of them
ion P
P Tt
Correct Option |[D
Qé No. |the A&” for the reaction
3021012 Fe +Zn** = 2zn + Fe **
is -0.32 volt. What is the equilibrium concentration of Fe ** reached when a piece of iron is placed ina 1 M zZn
++ :
solution?
e arfafsran & foe Ac®
Fe #Zn* = Zn~+ Fe*
-0.32 =iwe 3, Fe ™ =1 aram=reen aiEar o4 grff SFR ©F @16 & e & 1 M Zn ™ faee & wan = ?
. iM
Option A 1M
. 1.4 M
Option B 14M
) 1.4x10 %M
Opti C
pron ™1y 4ax10 ' m
) 1x10M
Optl D
PEON B4 1011 M
Correct
Option ¢
Q. No. 47 In comparison to other alkaline earth metal Beryllium oxides are
0021013 28 T Ba 9T o g § iier s % e
Option A More acidic and is amphoteric
ion et
P AT STl a1 SHFIHT ©
i More basic and is amphoteric
Option B At i qe Swae 3
Option C Strong base
Option D Neutral
S
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Correct Option

[a

Q. No. 48 Alkali metal oxides are
0021014 i g & G
. Strong acid
Option A T
. Strong base
Option B e
Weak acid
Option C EETF’T A
il
Weak base
Option D w’
“J w
Correct Option |B

Q. No. 49 Which the correct relation of atomic radius
0021015 fo 3% oy e o ww T T B 2
OptionA i ig INa<Ca<k
omne  [JTlechecKce
owonc  [HZpehesg
Option D Li > Mg > Na > Ca > K

Li > Mg > Na > Ca > K

Correct Option

A

862’\‘10(51560 The bond angle 20NC in NO,*, NO2™ and NO; are related as
NO;*, NO; 3t NO; % &9 &ivT L ONO Torw &7 4 wifaa 27
+ -
Option A NOz+ = NOZ, = NO2
NO2" = NO2" = NOz
Option B NO; > NOy > NO;
NO2 > NO2 > NO
Option C NO2>* > NO2 > NO2”
NO2* > NO2 > NO2”
Option D NO2* < NO2 < NO2”

NO;* < NO; < NO2”

Correct Option

[o

Q. No. 51 The hybridization of nitrogen in N2F: is
0021017 NoF; % F1sgeA &1 G 71 3 7
Option A sp
sp
2
Option B sz
sp
3
Option C Sp3
sp
. dsp2
Option D
2] dspz
Correct Option |B

Q. No. 52 Sulphur may exists in nature as
0021018 TR weEfT 5 o v 3 e s |
. Ssg
Option A Se
- Sq4
Option B Ss
- S2
Option C S,
Option D All of the above
ion = o
P I % A
Correct Option |[D

Q. No. 53 The shape of CIFs molecule is
0021019 C]_F3 31@ T SATFL F —%f}
Option A Triangular planar
ption e
X Linear
Option B E
Obtion C T-shaped
ion
[ T-GW:
Option D
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Pyramidal

T
Correct Option |C
Q. No. 54 The complex ion [CoFs]™ and [CoCNe]*3 are
0021020 ifeet 3 [CoFg]3au [CoCNg] ™2 ... 21
both paramagnetic
Option A T -
"33 i
both diamagnetic
Option B SO
Jreleh
paramagnetic and diamagnetic respectively.
i ry IS o
Option C S TR qT Ufcrrerehi
diamagnetic and paramagnetic respectively.
) s Lt
Option D Fo: e qo ST

Correct Option |C

Q. No.
55
0021021

What is the hybridization of the central metal ion in complex ion [Coh]'z, if the magnetic moment is
above 3.5 BM.

et a1 [COLy]2 3 e arq 1 e 721 3 f T e st 3.5 BM @ arfes 31

Option A

Option B
s

Option C
P d

Option D
P d

Correct
Option

>

Q. No. 56 The correct order of reactivity of SN? reaction of simple alkyl halides is
0021022 HAoohigel gese % SN2 stfuferan =1 ot ferntyrera o 9 2 |

Option A Tt >> fifra > s >

Tertlary >> Secondary > Prlmary > Methyl

Option B frromser > mufirs > fidfia > e

Methyl > primary > secondary > tertiary

OptionC | irzer > fyea > et > e

Methyl > secondary > primary > tertiary

Option b T > st > fyda > o

Tertiary > primary > secondary > Methyl

Correct Option |B

Q. No. 57 Rank the following carbocation in order of increasing stability.
0021023

SO G

C
htrmﬁmw = = g H?ff@nﬁl_q' Ex
@
@
/\/ /\T/
B C
. A<B<C
Option A A<B<C
. A<C<B
Option B A<C<B
. B<A<C
Option C B<A<C
. C<B<A
Option D C<B<A
Correct Option
Q. No. 58 Which of the following statement is incorrect?
0021024 o=t % & i T FEE B2

Option A

Polar aprotlc solvent favours SN? reaction
o faems SN2 stfufeen & wems ol 3

2

Option B

Polar protic solvent favours SN* reaction
» UTe faemass SN arfalsrar o v il 3
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Option C Weak nucleophile favours SN? reaction
geiel TRt SN arfifsrar o weres sl €
X A relatively unhindered leaving group favours SN2 reaction
Option D

FaTEa SN2 srfirfarar 1 e i ¥

Correct Option

C

Q. No. 59 whicn qf the following is correct trend of relative acidity?
0021025 ot 3 & wE wwar arreran o wiah E |
Option A HC=CH = H2C=CHy>HsC — CHs
P HC=CH=>H:C=CHz>H;C — CHs
Option B HC =CH < H2C=CHa<H;C — CHs
P HC = CH < HoC = CHy< H3C — CHj3
Option C HoC=CH>»>HC=CH > Hi:C — CHs3
P H;C=CH*HC=CH> H;C — CH;s
Option D H;C — CH;>=I:C =CH<HC=CH

H;C — CH3;>H:C = CHx< HC=CH

Correct Option |A

Q. No. 60 A secondary halide with strongly bgsic nucleophjle witl1 heatjng will preferably give
0021026 T FeligS erel & AR 3 T T S e S
. SN! product
Option A
P SN 31
SN2 product
Option B 1
P SN? 371E
E' product
Option C Elpri o5
Option D E? product
E? 30

Correct Option |[D

Q. No. 61 The major product of the reaction between propene and Benzene at 0 °C in presence of
0021027 strong acid HF is
were 377 HF 36 Safeufa 5 0 0C w o= offt wnfim i afifsrn 1 7 s #n 8 2
n-propyl benzene
Option A 1'1'3 it S =
isopropy| benzene
Option B ng- B, ol x3
ropenyl benzene
Option C PLopEnY. =
. No reaction
Option D | ¢ e i
Correct
Option B
Q. No. 62 Whicb_ oj the following substrate does not undergoes reaﬁdily Friedel Crafts reaction
0021028 foer 5 & i st Hiee e sttifsear e T S T
X Toluene
Option A
K}
Option B Anll‘lng
Obtion C Nitrobenzene
ption A S
Option D Benzoic acid
ption = TS

Correct Option |B

Q. No. Which of the following electrophilic substitution reaction will give 100 % para product when
63 chlorobenzene undergoes

0021029 foy ¥ ¢ =i i afafera 100%  wHy Sean S T TS § FoseH el e stafwan g |

Option A

Chlorination

Option B

Bromination

Option C

Nitration

Option D
P &

Sulfonation

Correct
Option

o

Page 12 of 20



Q. No. 64 Which following amino acid contains aromatic ring in its side chain
0021030 frer 3 o fopm w1t ofue = et sgen o wifes o ot 2 |
. His
Option A His
. Lys
Option B Lys
. Asp
Option C Asp
. Tyr
Option D Tyr
Correct Option |D
Q. No. Which of the following amino acid found in proteins will not react with Ninhydrin to give intense purple coloured anion with Amax
65 value of 570 nm?
0021031 | foy 31 Wity # Suftsra =i a1 w1 ufire, Fraesdivn @ sl e 12t i tr o6 smvE, S Apax 79 570 nm = s 2 |
. His
Option A His
. Pro
Option B Pro
. Phe
Option C Phe
. Ile
Option D Tle
Correct
Option
Q. No. 66 What is the initiation codon for translation
0021032 SIS 1 YT FEM 701 3 |
. UAA
Option A UAA
. UAG
Option B UAG
. AUG
Option C AUG
. UGA
Option D UGA
Correct Option |C
Q. No. 67 Bakelite is obtained from Phenol when it is reacted with
0021033 Torm TifiTes o T & 9 Swanse S £ 7
. HCHO
Option A HCHO
. CH3CHO
Option B CH3CHO
. CH3COCH3
Option C CHsCOCH;>
. (COOH)2
Option D (COOH);
Correct Option |A
Q. No. Three charges +q, +q and -2q are placed at the vertices of an equilateral triangle ABC respectively whose side is a .
68 The dipole moment of the system is
0031001 | . . B . s s o
= AT +q, +q 2R -2q FE: a 9o A gnarg GBS ABC o @it wowd s € T =5 fgga st s
. 3qa
Option A 3qa
. 2ga
Option B 2qa
\-"6qa
Option C| |
W6qa
V3qa
Option D 4
W3qa
Correct
Option D

Q. No. Two particles A and B (B is right of A) having charges 8x10°° C and -2x10° C respectively, are fixed with separation of 20 cm. Where
69 should a third charge particle be placed so that it does not experience a net electric force

2T A B (B =R SAXE A %) 5 SA@v w5 8 X 100 C a9-2 X 106 C &, Tk 282 ¥ 20 om %1 g0 W 3 U diea SATai o
el @ S =i, o 54 fagd = #= sgwa A 8 ?

0031002

Option A

20 cm leftof A~
20 cm A FHENE AR

Option B

5 cm left of A

5cm A FEWE AT

Option C

Page 13 of 20



20 cm rightﬂof B N
20 cm B FEEI 3R

5cm rightﬂof B

Option D P
P 5cm B & gE R
Correct
Option
Q. No. An electron of mass m and charge q is accelerated from rest in uniform electric field of strength E. the velocity acquired by it, as it
70 travels a distance | is
1 7 % 5 5 2 = 5 E ks i 5
0031003 zmmry m St smaw q At o for s 1w g fga & E # wafa frar s 2 gff 7 0§ 5o g e femnmn A g
) (2Eql/m)¥?
Optl A
PHON A (2Equ/m)¥2
) (2Eq/Im)/?
Optl B
PHON 7 (2Eq/im)2
) (2Em/ql)/?
Optl C
PRON = 2Emyan2
. (Ea/im)*
Optl D
PHON 7 (Ea/im) 2
Correct
Option A
Q. No. Two charged spheres separated at distance d exert a force F on each other. If they are immersed in liquid of dielectric constant 2, then
71 what is the force (if all conditions are same)
0031004 N - - - 5 E . ENU SN - e
=i d o fsr a1 SrEfid Tet U g W A F e 8 Al S e egatedis 2 A w6 H ga e S A 9 st aw e (A
Tt fafert ws =)
. F/2
Option A F/2
. F
Option B F
. 2F
Option C oF
' 4F
Option D 4F
Correct
Option A
Q. No. A capacitor of capacity C has charge Q and stored energy is W. If the charge is increased to 2Q, the stored
72 energy will be
0031005 5 = -, o - -, - o P
aifta C aret U S waee Q i TiEta = W 2, afa anaer & sga 2Q = faar wmy o e == gt
. 2W
Option A SW
. W/2
Option B w/2
. 4W
Option C aw
: W/4
Option D W/4
Correct C
Option
Q. No. Two bulbs of wattage 40 W and 100 W rated at 220 V are connected in series across a 440 V. What will
73 happen
0031006 = = = B - _ - L -
220 V w fFaif@ 40W aur100 W egmar amet & sew 440 'V 35 g grgen 5 92 g8 2, @ &1 g
40 W bulb will fuse
Option A T S >
P 4OW =retT sres WS 81 S
100 W bulb will fuse
Option B T o a
PRON =1 100W aer s T 21 ST
Both bulb will fuse
Option C | 3= 3 =
P SHl Sod T gl S
nothing will happen
Option D _ﬁ;‘ :‘g':r Eﬂ'l'l':
Correct
Option A
Q. No. A charge particle of mass m and charge q describes circular motion of radius r in a uniform magnetic field of strength B. The
74 frequency of revolution is
0031007 L & k. S o B i Fa
FEAA 111 T ST 0T T SAEird H07 B dverar et Teshg £ 5 90 1T St 8, el B 7, a uieme w5
ontion A Bq/Zmm
on p
P Bg/2Zmm
Option B| Bq/2am
Bq/2nrm
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2mm/Bq
Option C A ;
2nm/Bgq
Bm/2ng
Option D )
Bm/2nq
Correct
Option A
Q. No. A current flows in a conductor from east to west. The direction of the magnetic field at a point above the
75 conductor is
0031008 £ S 2% ~ A s . L e~ ~
TS U 9m ohT 3R O e ¥ 9 s 2l 8, ek o Su e fig wogrehe @ i foa g
towards north
Option A | T T 1T
towards south
Option B -
P SiEor 7 3T
towards east
Option C 4 =
T i &
towards west
Option D S
P i 67 2
Correct
Option A
Q. No. 76 The dimensional formula of magnetic induction is
0031009 ‘ =
SrEehid b & o g 8
) [MT*A-1]
Opti A
ption [MT4A—1]
) [MT-2A-1]
Opti B
pron [MT-2A-1]
2
Option C [MLA 2]
[MLA-7]
3
Option D [MTSA]
[MT°A]
Correct Option |B
Q. No. A gnet of gnetic t M is situated with its axis along the direction of a magnetic field of strength B. The work done in
77 rotating it by an angle of 180° will be
0031010 - 3 = £ X 4
T et M 3 o e ST gl % e Trehig & ol e A few 2, seent 1800 4 gmw H faneen wrd wr wem ?
. -MB
Option A _MB
. +MB
Option B +MB
Option C zero
zero
. +2MB
Option D +2MB
Correct
Option D
Q. No. What inductance would be needed to store 1 KWh of energy in a coil carrying a 200 A current
78 - B . is HRE H AR ” S
0031011 | 200 A forae erraigueedt # 1 kwh i wfar 2 2q o Sebed %l STrawshar gif?
. 1800H
Option A 1800H
. 180H
Option B 180H
. 80H
Option C 80H
. 800H
Option D 800H
Correct
Option
Q. No. Two pure inductors each of self inductance L are connected in parallel but are well separated
79 from each other. The total inductance is
0031012 = — - e S - - -
T SHA L ATt <1 375 b Th T H G s € gU T, T B S BT
Rl
. 2L
Option A 5L
Option B ::
. L/2
Option C L2
. L/4
Option D L/4
C
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Correct ‘

Option
Q. No. R
80 . ) . - o =3t +4t+ 9 ) )
0031013 The magnetic flux linked with a coil, in Webers, is given by the equation . Then the magnitude of induced
emf at t =2 sec will be
5 Fai * 2 3 Ta o -,
U sl | grEg g (A ) WERer @ =3t + 4t+ I gri e St g, W t = 2 wehs H s emf g
. 4V
Option A av
. 3v
Option B 3v
. 8V
Option C 8V
. 16V
Option D 16V
Correct
Option D

Q. No. 81 The rgsistance of a coil for DC is 5 Ohm. In case of QC , the resistance will
0031014 DC = feau o goeaiamafmmS ohm 31 AC F g afag
remain 5 Ohm
Option A 5
P 5 ohmwm
. decrease
Option B -
X increase
Option C =
be zero
Option D ‘{E{ BT
Correct Option |C

Q. No. 82 Focal length of convex lens in air is 10 cm. Its focal length in water will be
0031015 =3 ~ 5 = % z ¥ 3
a1 T STe o b HiB 510 cm ®, S § @kl Bk o gt
. 30 cm
Option A 30 ¢m
. 4 cm
Option B 4 cm
. 40 cm
Option C 40 cm
. 10 cm
Option D 10 cm
Correct Option |C

Q. No. The wavelength of light in vacuum is 6000 A What will be the wavelength after passing through
3831016 the glass whose refractive index is 1.5
fratest webrer 1 wimeed 6000 A0 % st 1.5 At FiF ¥ TG % w1 qvreed 7 gnft ?
Option A 4000 ‘E:
4000 A
Option B 6000 ‘83
6000 A
Option C 9000 ‘BOL
9000 A
Option D 15000 ‘E:
15000 A
Correct
Option A
Q. No. 84 When the light is refracted, which of the following does not change
0031017 £ > xS, g
STel SERTET 1 TRIE0H ST & af e T ¥ g uitafia T e
Wavelength
Option A =l
Amplitude
Option B ST
Velocity
Option C %‘T
Frequency
Option D mﬁ{
c
Correct Option |[D
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Q. No.
% () oy
0031018 | How does refractive index of material vary with respect to wavelength * where A and B are
constant
i asi T T % -, x = & 3 - N =
Tt werdd = erwEdaE (), guTesd (L) % oy Sy uRaEfda srar g, el A ok B a2
ootion A | = A+B/ 2
on i
P p=A+B/ 12
option B p=A+B2?
on A
P p=A+B2
ontion C p=A+B/h
on T
P p=A+B/ L
ontion b | = A+B A
on -
P p=A+B L
Correct
Option A
Q. No. 86 The critical angle of a prism is 30°. The velocity in the medium is
0031019 i - e - 5
uF firsn o1 whifass wror 3002 | qresry o WeRteT o T R
) 1.5x10° m/s
Opti A
ption 1.5x10% m/s
) 4.5x10% m/s
Opti B
ption 4.5x10% m/s
8
Option C 3X108 m/s
3x10° m/s
7
Option D 4.5)(107 m/s
4.5x10" m/s
Correct Option |A

Q. No. 87 Which of the following is conserved when light waves interfere
102 i - - R 5
0031020 STeT ERTST T T AT gial § a1 [+ H ¥ 721 X Tl 8
. Intensity
Option A
Energy
Option B 3\_Tﬁ
Amplitude
Option C
HME™
Momentum
Option D _{:'aj_r
Correct Option |B

Q. No. 71=4sin ot and y2 = 3sin (ot+1/2
88 If the two waves represented by y1 y2=2 ( ) interfere at a point, the amplitude of the resulting wave
0031021 | will be about
Ay, = 4sin ot ARy, = 3sin (Ot+/2) gr1 290 TE =1 0T Tk T6g WEETHT A 2, T IO T B A A
. 7
Option A 7
. 5
Option B 5
Option C g
. 3.5
Option D 35
Correct
Option ¢
Q. No. 89 In double slits experiments, for light of which colour the fringe width will be minimum
1022 % - 5 5 =
00310 Te-Teete wam o, Torg 07 & wae % o fivey & =iers BRG] =
green
Option A =
violet
Option B % ﬁ
red
Option C AT
yellow
Option D Qc]?ﬂ
Correct Option |B
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Q. No. Yellow light is used in a single slit diffraction with slit width of 0.6 mm. If yellow light is replaced by X-rays, then the observed
90 pattern will reveal

0031023 | iy reprer =1 39 (.6 Tty o e % v woher e famdsy  foman st 21 afe died wemmr o wem—t g sferesiinn fomam
=T T Utiad S ook B

that the central maximum is narrower

Option A\ Zfor sfreram T 2

more number of fringes

OPHon B | et o1 sifes wiea

less number of fringes

Option C | o33y =67 o6 G

no diffraction pattern

Option D ﬁ? ﬁﬁlﬁq '__‘_Eq. Tih:'ﬂ

Correct
Option D
Q. No. The work function of a metal is 1.6x107'° J. When the metal surface is illuminated by the light of wavelength
gé31024 6400 A, then the maximum kinetic energy of emitted photoelectrons will be approximately (h = 6.6x1073* 3/S)
o g FwEwed 1.6 X 10717 T 21 & arg =1 wae it oed 6400 Al s 1 Uve T S @
SrafiT Brgere 1 stk i st @ e (h = 6.6x10-34 J/s)
) 1.4x10-1% 3
Opt A
PHON AT 1 4x10-2 3
' 2.8x10-1%3
Opt B
PHON B 15 8x10-12 3
) 14x10-%]
Opt C
PHON =1 14x10-193
! 1.4x10-'° ev
t D
Option D | 1 4x10-1 ev
Correct
Option
863'\‘1062952 What will be ratlo of de- Broglie wavelength of proton and o particle of same energy
T W 3911 o TIEH ST 0= 5h1 Si-grTeft qimeed 1 41 ST e ?
Option A 51
Option B 13
. 4:1
Option C 4.1
Option D i:
Correct Option |A

Q. No. 93 Which one of the following series of hydrogen spectrum is in the visible region
0031026 FrEgrem T e vl H ¥ e g A 3
Obtion A Lyman
on
P A
Bal
Option B ae_lmn%er
Paschan
Option C
P T
Bracket
Option D it

Correct Option B

Q. No. 94
0031027 ab -particle is emitted by radioactivity nucleus at the time of conversion of a
o [} ottt afifar i 30 R wuiawr % g Seatsid B © |
. neutron |nto proton
Option A 2 e
proton into neutron
Option B

Ay
nucleons into energy

Option C Qlﬁﬁl'ﬂﬁ FIA T

=]

. Positron into energy
Option D Hifster 5 S o

Correct Option |A

Q. No. When the electrical conductivity of a semi-conductor is due to the breaking of its covalent bonds, then
95 the semi conductor is said to be

0031028 | 57y U ST ATeT o1 T ATeihal SUH U GATSH o1 & % HIT & Al 3§ STe=Tersh i el oIl 8
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Option A | donar
<rr
acceptor
Option B THE’T
intrinsic
Option C | 2
Option D extrinsic
ion
P ELG)
Correct
Option ¢
Q. No. 96 A p-n junction has a thickness of the order of
0031029 TF p-1 G i AR F % e g
1cm
Option A 1 i:l":ﬁ
imm
Option B 1 ﬁlﬁl
10°%m
Option C lof,q:-l
-12
Option D i%lgn_éﬁ_-l
Correct Option |C

Q. No. 97 In forward bias, the width of the potential barrier in a p-n junction diode
0031030 AN AWEH, P-1 Wr 2ETe & o Ulke 61 =9EE
increase
Option A =
. decreases
Option B Erd?ﬁ “g
remains same
Option € T UHH Tl ©
! first increase then decreases
Option D waéra—r;a’t%ﬁm‘azm" %
Correct Option B

Q. No. 98 The transistors provide good power amplification when they are used in
0031031 " - c S 2 E %
it =2t WIfth U9 Wow F & = F SUEnT ¥ o A 8
Option A common collector configuration
ption m A 3 E
Tures fo=ma o
common emitter configuration
Option B SR St e
common base configuration
Option € Syt aan e §
none of these
Option D AR
Correct Option |A

Q. No. 99 A zener diodg is used fpr i
0031032 T S EMEE = 37a faan =T &
Option A rectification
ption feog &
. modulgtion .
Option B W I
- detection
Option C @
voltage regulation
Option D o = 2 e

Sleear S

Correct Option

D

Q. No. 100 The maximum amount of radiation in the earth's atmosphere is of the type
0031033 efi 36 AT § gad S T T 6 T g g
. X-rays
Option A X-?ﬂ'ﬁ
Y-rays
Option B F _ﬁy
¥ at
. ultraviolet
Option C o
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Option D infrared
FHETH

Correct Option |D
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